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QUESTION:  140 

What is the result, if any, of executing the following code? 

DCL A BIT(1) INIT('0'B); 

DCL B BIT(1) INIT('0'B); 

DCL C BIT(1) INIT('1'B); A = B = C; 

A. The value of A is '0'B. 

B. The value of A is '1'B. 

C. The value of A is unpredictable. 

D. There is no result because the syntax is wrong. 

Answer: A 

QUESTION:  141 

What is the result, if any, of executing the following code? DCL A BIT(1) INIT('0'B); 

DCL B BIT(1) INIT('0'B); DCL C BIT(1) INIT('1'B); A = ^B & C; 

A. The value of A is '0'B. 

B. The value of A is '1'B. 

C. The value of A is unpredictable. 

D. There is no result because the syntax is wrong. 

Answer: B 

QUESTION:  142 

What is the key difference between logical file name and physical dataset name? 

A. Logical file name is used in the program while physical dataset is not. 

B. Physical dataset name is used in the program while logical file name is not. 

C. Logical file name is used in the job control while physical dataset is not. 

D. Physical dataset name is used in the job control while logical file name is not. 

Answer: A 



QUESTION:  143 

Given the following code, how many times is the PUT statement executed? DCL I 

FIXED BIN (31) INIT (0); 

L1: 

DO LOOP; I += 1; 

DO LOOP; I += 1; 

IF I >= 10 THEN LEAVE L1; PUT SKIP LIST (I); 

END; END; 

 

 

A. 7 

B. 8 

C. 9 

D. 10  

 

 

Answer: B 

 

 

QUESTION:  144 

Given the following program, what will be output? TEST: PROC OPTIONS(MAIN); 

DCL 1 B, 

2 B1 FIXED BIN(31) INIT(1), 

2 B2 FIXED BIN(31) INIT(2), 

2 B3 FIXED BIN(31) INIT(4), 

2 B4( 4 ) FIXED BIN(31), 

2 B5 FIXED BIN(31) INIT(5), 

2 B6( 5 ) FIXED BIN(31); CALL SUB( ADDR(B) ); SUB: PROC( P ); 

DCL 

P POINTER, 

N1 FIXED BIN(31), N2 FIXED BIN(31), 1 A BASED(P), 

2 A1 FIXED BIN(31), 

2 A2 FIXED BIN(31), 

2 A3 FIXED BIN(31), 

2 A4( N1 REFER(A3) ) CHAR(4), 

2 A5 FIXED BIN(31), 

2 A6( N2 REFER(A5) ) CHAR(4); PUT SKIP LIST ( STG(A) ); END; 

END; 

 

 

A. 24 

B. 36 

C. 40 

D. 52  



Answer: D 

 

 

QUESTION:  145 

What is the value of X after executing the following code? DCL X BIT(16) INIT('10'B); 

 

 

A. '0000000000000010'B 

B. '1111111100000000'B  

C. '1010101010101010'B  

D. '1000000000000000'B 

 

 

Answer: D 

 

 

QUESTION:  146 

If the following syntax is incorrect, how should the syntax be changed? DCL A 

CHAR(100) BASED(P); 

DCL P PTR; ALLOCATE A; 

READ FILE(DDIN) INTO(A); 

 

 

A. READ FILE(DDIN) INTO(P); 

B. READ FILE(DDIN) SET(A); 

C. READ FILE(DDIN) TO(P); 

D. No changes are needed because the syntax is correct.  

 

 

Answer: D 
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